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1. Introduction
RAN2 has agreed that a RN will perform a RA procedure when it falls back to IDLE mode.
	RAN2 agreement:
1: After RLF, to recover the RLF, RN will fallback to UE mode and perform normal contention based RACH for re-establishment.

2: RRC connection reconfiguration procedures and Un subframe reconfiguration procedure after successful RRC connection re-establishment should be the same as procedures used during initial RN startup.

3: If re-establishment fails the RN goes to IDLE and tries to recover.


2. Discussions and Proposal
It is not clear whether or not the RS (Reference Signal) is transmitted from the RN to the subordinate UEs when the RN is in UE mode. If the RS transmission is still allowed, it can impact the internal self-interference of the RN because simultaneous transmission and reception could happen (Figure 1 shows an example). 

In order to alleviate this issue, we think it is better to disable the RS transmission. Although this will impact the measurement of the subordinate UEs, this is just a tentative prohibition of RS transmission and so this does not seem to give a significant impact on the UEs. RAN2 should discuss what the correct assumption for RS transmission is.
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Figure.1: Self Interference during Msg2 Window and Msg4 reception

Proposal: RAN2 should discuss which assumption is correct, that RS (Reference Signal) transmission will be disabled or allowed, if the RN fallbacks to UE mode.
3. Conclusions

Proposal: RAN2 should discuss which assumption is correct, that RS (Reference Signal) transmission will be disabled or allowed, if the RN fallbacks to UE mode.
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